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ADDITIONAL MATERIALS

The use of a calculator is not permitted in this examination.
A ruler, protractor and a pair of compasses may be required.

INSTRUCTIONS TO CANDIDATES

Use black ink or black ball-point pen. Do not use gel pen or
correction fluid.

You may use a pencil for graphs and diagrams only.

Write your name, centre number and candidate number in
the spaces at the top of this page.

Answer all the questions in the spaces provided.

If you run out of space, use the continuation page at the
back of the booklet, taking care to number the question(s)
correctly.

Take 7 as 3-14.

INFORMATION FOR CANDIDATES

You should give details of your method of solution when
appropriate.

Unless stated, diagrams are not drawn to scale.

Scale drawing solutions will not be acceptable where you
are asked to calculate.

The number of marks is given in brackets at the end of each
question or part-question.

In question 9, the assessment will take into account the
quality of your linguistic and mathematical organisation,
communication and accuracy in writing.
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Question Man)n(g?f " Avm;ked
1. 6 6
2. 3 9
3. 4 1
4. 3 16
5. 2 Y
6. 4 i
T 6 1y
8. 5 3
9. 7 Lo
10. 6 He
11. 5 Sl
12. 4 7
13. 3 ¥
14, 3 9
15. 3 L4
16. 5 69
17. 4 T
18. 2 E28
19 5 JO
Total 80
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Formula List — Intermediate Tier

A
Y

Area of trapezium = 3 (a+ bh h

Volume of prism = area of cross-section x length

L
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1. (a) Write down the next two numbers in the following sequence. [2]
35, 25, 16, 8, .. . "5
-0 - 1 "'7 - - 6

(b)  Find the value of 2x + 7y when x = -3 and y = 10. (2]

______________ 2«73 #3xl0
= -6 +7%0
> L

(c) Simplify the expression @ + 3m= 28~ 8m. 2]

2. Write down 04, 15% and Lin ascending order.

20
You must show all your working. [3]
________ L. NN ..
|10 100 20
........ L‘o IT teresssravesaess 3,’ caspue bekdanesarannnasin N ret ettt et st ribe e arann L T T P
L0o loo (0O

Smallest value » Greatest value

T
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3. (a) Reflectthe triangle below in the x-axis. ml "

L - < - I L

7 6-5-4 3-2-10] 1 3 3 4 5 3 7"~ 5}
-1

-3 1
—_4. V
<5

(b)  Enlarge the triangle below by a scale factor of 3. [2]

=
—

T
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(c) Translate the triangle below 3 squares to the left and 2 squares down. [1]

Examiner
anly

-7 -6-5-4 -3-2-10] 1 2 3 4 5 & 7
-1

3300U301
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4. (a) Afair, six-sided dice is rolled. oy
What is the probability that a 4 is shown on the dice?

Circle your answer, [1]
: 1 1 |
6% 5 Z 6:1

B

D=

(b) 50 raffle tickets were sold at a charity event.

Sian has a 20% chance of winning the top prize.
How many tickets did Sian buy?
Circle your answer. ' [1]

1 2 4 @ 20 B‘E

(c) A bag contains a mixture of blue beads, yellow beads and pink beads.
One bead is taken at random from the bag.

The probability that the bead is pink is %

Which of the following sets of beads could have been in the bag?
Circle your answer.

(1
: 6 blue I 1 blue 6 blue
6 yellow 1 yellow 3 yellow
3 pink/ 5 pink/ 6 pink/
_______________ R S A A SO
________________ < N S T
l |

L
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5. Team A and Team B play in a competition.

Team A has nine more points than Team B.
Team A has four times as many points as Team B.

How many points does each team have? [2]

33000301

a7
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6.

David, Jane and Mary are beach
Three beaches, Harlech,

random.

(a) List all the possible differen
One has been done for you

David —» Harlech,

D = H

inspectors.

t ways they could share the work.

Rhyl and Porthcawl, are all to
It is decided to share the work so that the inspector

Jane — Rhyl \_

}

—-________—/‘

JT = F

be inspected on a certain day.
s will visit one beach each, chosen at

(2]

and

Mary — Porthcawl

M-SR

Ly
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7. ABCDis a quadrilateral, " o

Diagram not drawn to scale

(a) Calculate the value of X

3300U301
0g

) (b)  When ABCD is drawn to scale, would the lines AD and BC be parallel or not?
You must justify your answer without using a scale drawing. [2]

[T
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. 41-3 x 296
8. (a) Estimate the value of es7 -

You must show all your working. [2]

LLD\(?(’ Z ’ld 36

() 540x842 = lr)'%?x[OxlO:’-lf Lejo 1l R

(i) 45468 - ..oH2 [1] [“J]

54

gorEe S—Ll [1] 9

() 543 -

oL = Lsns.y
G
\/_

Sh-L

i
[T
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. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.
In the diagram below,

* ABCD is a rectangle, and
*  PQis parallel to AD.

D gcm Q 8cm Cc
A P B

Diagram not drawn to scale

The area of ABCD is 52 cm?2.
The area of APQD is 20cm?2,

Calculate the values of fand g.
You must show all your working. [5+20CW]

T
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10. Ceri has a set of cards. o
Each of her cards is labelled North, East, South or West.
(@) Ceri chooses one card at random from her set of cards.
Complete the table below to find the probability of Ceri choosing a card labelled West.
[2]

Label North East South West
Probability 0.4 0.25 0.2 a5

iA)

ML

(b)  Ceri chooses one card at random from her set of cards. 2
What is the probability that the card is labelled East\or}South? [2] M_;
|
oW+o0- =z ohs &
|

(c) Sasha has an identical set of cards.
Ceri and Sasha each choose one card at random from their set of cards.

2| )

What is the probability that they both choose a card labelled North?

(
o
¥
b 4
Q
.y
l
Q
o~
>

—

(3300U30-1)
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11. The table below shows some of the values of y = x2— 5x + 2, for values of x from —1 to 5.
x -1 0 1 2 3 4 5
y=x2-5x+2 8 2 -2 —4 - L’- -2 2
T (1]

(@) Complete the table above.
_________ mmi/mﬂ)l

(b)  On the graph paper below draw the graph of y=

— 5x + 2 for values of x from

—1 to 5. (2]
¥y
\
8
6
4
-5 7 f
=1 0 1 ’!\ ) 3 T ) 5 -
{ )
-3 " E ;
I ‘ Uz=D
-4 \l\__//
-6

T
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(c) Draw the line y = -3 on the graph paper.

Write down the values of x where the line y = -3 cuts the curve y = x2— 5x + 2.
Give your answers correct to 1 decimal place. [2]

Values of x are l ; T and 3)’

(b) The number 33554432 is equal to 22°.
Explain how this tells you that 33554 432 is not a square number. [1]
Iﬂf—fwf-»"* .................................................................

AL
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13.

(a)

(b)

Lz Iy+y lo v g¢4
e 0 ettt
y
4
4-
M: ({f’/f u’
2..
U dl'%x
i :
J.‘Ff’]‘o/” § & 512
fl 4 gt
=Y 3

VA
s MX+C

\

Intopk o~
Yaxsy.

N

Which one of the following equations could represent the line shown in the graph above?
Circle your answer,

(1]
y=-x-2 @ y=x+2 y=x-2 y=—x
X RS R x
Which one of the following points lies on the line 2y = 3x + 4?
Circle your answer. [1]
(2, -5) (5, 2) (-2, 5) (=2, -5)
™% X X

What is the gradient of the line shown in the graph above?
Circle your answer.

(1]

Examiner
only
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3 -3 2 -2 5
2 2 3 3 -
X W pad
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14. A whole number is written on a card.

You are given three clues to help you work out the number on the card.
Clue 1: Double the number is between 8 and 18 inclusive.

Clue 2 : The number is a prime number.

Clue 3 : The number is not a factor of 100.

What is the number on the card?
You must show all your working. [3]

The number on the card is q'

T
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15. In the following formulae, each measurement of length is represented by a letter. o

Consider the dimensions implied by the formulae.
Write down, for each case, whether the formula could be for a length, an area, a volume or none
of these.

The first one has been done for you.

[3]

Formula Formula could be for
d?-314r%h Lvelume
d2 + hw
db b
2y — mr?
(d + hyw
d3 + dwh

AL-PI'\W {cl-t\qu %r-—ﬂlfl ’(Cl*l")w
L el PLeLaeL 3 o B ¢lak) L
s La [ 2 b b»)h’ﬂr“** Ll

(XY

L
L" 3 [Da\)% zNone L

Aren 7 Ao
)

199

el Pl
L_.> b Ll

L¥ 5 L2
L\’ s %’UV‘-C

W
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16. A group of 20 people visited Anglesey for a weekend break. o

¢ 10 of the group visited Beaumaris Castle.

* 13 of the group visited South Stack Lighthouse.

* 4 of the group did not visit either of these places.

(a) Complete the Venn diagram below to show this information.
The universal set, €, contains all of the 20 people in the group. [3]

- Castle Lighthouse

0-% +%X +1V-% = |[

(b) One person is chosen at random from the group.
What is the probability that this person visited only one of the two places? [2]

M
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17. Solve the following simultaneous equations using an algebraic (not graphical) method. [4] g

Ix+dy=7 "‘@

2x-3=16 _ @)

M)

Y
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18. Calculate the value of (541 x 105 + (2:3 x 10%). e
Give your answer 1{1 sta?dard form. [2]
) o
0 IO ‘ ....................... S ﬂj'?
v e

i .1'~'b|0‘-°f- S
1 51tlho 0o - g0

19. Rashid owned » sheep.
Eifion had exactly 4 times as many sheep as Rashid.

Rashid buys 17 extra sheep.
Eifion sells 8 of his sheep.

Eifion still has more sheep than Rashid.
Form an inequality, in terms of n.

Solve the inequality to find the least value of .
You must show all your working. [5]

END OF PAPER

Ll
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